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	Q01: Thought progression:
-Same temperature distribution would yield the same pressure field and PGF.
-Same PGF 620 Mya as today would require the same Coriolis force as today to establish geostrophic balance.
-Since Coriolis force is the product of earth’s rotation rate times wind speed, a 10% faster rotation rate would require a 10% slower wind to produce the geostrophic balance.
-Hence, one would expect slower wind speeds. 
	Q2: Thought progression:
-More warming in polar regions than the tropics would decrease the north-south temperature difference.
-Weaker N-S temperature gradient would yield a weaker N-S pressure gradient.
-Weaker PGF requires a smaller Coriolis force to establish geostrophic balance.
-Smaller Coriolis force means slower winds.
	Q3: Thought progression:
-Horizontal temperature differences are the energy reservoir from which midlatitude cyclones form.
-A weaker N-S temperature means that less potential energy would be available to develop cyclones.
-It follows that cyclones in a world of weaker temperature gradients would be, on average, also weaker (ignoring the impact of changes in moisture!).
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